Name of contractorPriyanka DeviSI. No site bills reg.Nature of workTile flooring workDt site bills reg.Work done from date $16-6-2024$ M-codex bill ID.Work done to date $2024-10-23$ GST bill required?Contractor bill no.QiyUnitsRate IDContractor bill no.QiyUnitsRate IDalls of work884SftTF1852024-10-23245SftTF1852024-10-23245SftTF1852024-10-23245SftTF1852024-10-23245SftTF1852024-10-23245SftTF1852025245SftTF187245SftTF187TF187245SftTF187TF18334SftTF183TF18335TF183SftTF18334SftTF183Sft51gn:Date:Add GST @Date:Date:Date:	ctorPriyanka DeviSI. No site bills rTile flooring workDt site bills reg.m date16-6-2024M-codex bill ID.late2024-10-23WO issued ?no.QtyUnitsVO issued ?884Sft2024-10-23884SftState245SftState34SftState34SftState34SftState34SftState34SftState34SftState34SftState34SftState34SftState34SftState34SftState34SftStateSftSft
SI. No site bills reg.Dt. site bills reg.M-codex bill ID.WO issued ?GST bill required?UnitsRate IDNameSft884Sft245Sft7245Sft734Sft755Sft764Sft775Sft776Sft776Approved by Director/E&D884Sign:776Date:	SI. No site bills reg.Dt. site bills reg.M-codex bill ID.WO issued ?GST bill required?UnitsRate IDRateRateUnitsRate ID884SftTF18516.00245Sft740Sft751TF1874.0034Sft761TF183761TF183Add GST @Total amount including taxes for work doneSign:Approved by Director/E&D teamSign:Colspan="2">Total
red? P. Rate ID TF185 TF185 TF187 TF187 TF187 TF187 TF183 TF183 TF183 TF183 TF183 TF183 Surd 4 Attach mea	2. 2. 2. 2. 2. 2. 2. 2. 2. 2.
	Rate 16.00 16.00 4.00 4.00 15.00 15.00 15.00 15.00 15.00

1709209412\_Intl memo no. 918-001\_- Anx B - Work Completion Report\_28-02-2024\_ver3.xlsx

ESTIMATE SHEET						
Company Name:	MRMLLP			Ap	Approved by: Srinivas N	Srinivas N
Project:	Gulmohar Residency				Sign:	
Work Description:	4' X 2' flooring tiles and b	4' X 2' flooring tiles and bathroom tiles laying in G Block	k			
Contractor Name:	Janardhan Prasad					
Prepared By	Srinivas.N					
Date:	23.10.24					
S No.	Item Head	Item Description	Quantity Units	Rate	Amount	
parent	H 606	SBUA 1360sft (65%)	884 Sft	16.00	14, 144	
2	4' x 2' tiles	Skirting 18 %	245 rft	16.00	3,920	
		SBUA 1360sft (65%)	884 Sft	4.00	3,536	
		Skirting 18 %	245 rft	4.00	086	
3	Bathroorns	(200sft per toilet)	400 Sft	18.00	7,200	
÷	Ceramic	(93sft per flat )	93 Sft	15.00	1,395	
Û,	Ceramic	Kitchen Dado	34 Sft	15.00	510	
					31,685	

MEASUREMENT	SHEET							
Company Name:	MRMLLP					Approved by:	Srinivas N	
Project	Gulmohar Residency			in an Antal attraction and a summer of the second		Sign		
Work Description:	4' X 2' flooring files and b	athroom tiles laying in G Block						
Contractor Name	Janardhan Prasad							
Prepared By	Srinivas N							
Date	23.10.24							
			А	В	С	D	E= AxBxCxD	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	H 606	4' x 2' tiles						sft
		SBUA 1360sft (65%)	884	1.00	1.00	1.00	884	sft
		Skirting 18 %	245.00	1.00	1.00	1.00	245	Rft
	bathrooms	(200sft per toilet)	200.00	1.00	1.00	2.00	400	sft
	Kitchen & utility	(93sft per flat )	93.00	1.00	1.00	1.00	93	sft
	Kitchen dado	Kitchen dado	16.00	1.00	2.00	1.00	32.00	sft
ALL AND AND A REPORT OF A REPO								

Bill for Labour Charges

Janardhan Prasad, Mallapur. Date: 23.10.24

In favor of:MRMLLPProject / Site:Gulmohar ResidencyLocation:MaliapurType of Work:Tiles workTowards:Allowance for Consumables.

Amount in words: Six Thousand Three Hundred and Thirty seven Rupees Only.

Sign: \_

## Allowance for Consumables

Janardhan Prasad, Mallapur.

Date: 23.10.24

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in H -	
	606 flats	Rs. 12674 /-
	Total Amount = $31685/-$	
	Work done from date 22.09.24 to date 06.10.24	

Amount in words: Twelve Thousand Six Hundred and Thirty Four Rupees Only.

Sign:\_\_\_\_\_

## Allowance for Consumables

Janardhan Prasad, Mallapur

Date: 23.10.24

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in H - 606 flats.	Rs. 12674 /-
	Total Amount = $31685/-$ Work done from date 22.09.24 to date 06.10.24	

Amount in words: Twelve Thousand Six Hundred and Thirty Four Rupees Only.

Sign: \_\_\_\_\_